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Q.1 In the following question, select the odd letter/letters from the given alternatives.
Ans X 1.JSH

X 2.TCX
5 3.MVE
o 4. PZA

——

Question ID : 630680440776
Option 11D : 6306801720762
Option 2 ID : 6306801720763
Option 3 ID : 6306801720765
Option 4 ID : 6306801720764
Status : Answered
Chosen Option : 4
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Q.2 From the given option figures, select the one in which the question figure is hidden/embedded.

o

o 1.

Ans

et

Question ID : 630680440780
Option 11D : 6306801720781
Option 2 ID : 6306801720780
Option 3 ID : 6306801720778
Option 4 ID : 6306801720779
Status : Answered
Chosen Option : 1
Q.3 By Interchanging the given two numbers which of the following e quation will be
correct?
5and 9
Ans X 1.5+9x2+3=12

X 2.9+5x2-1=30

' 3.8+2+9%x3-5=10

XK 45-9x1+2=10
Question ID : 630680440787
Option 11D : 6306801720809
Option 21D : 6306801720808
Option 3D : 6306801720807
Option 4 ID : 6306801720806

Status : Answered
Chosen Option : 3
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Q.4 . ’
What is the approximate value of /510.91 + v401.6x 3.98 ?
Ans X 1.98
X 2.72
«" 3.88
< 4.106
Question ID : 630680440788
Option 11D : 6306801720811
Option 2D : 6306801720810
Option 31D : 6306801720813
Option 4D : 6306801720812
Status : Answered
Chosen Option : 3
Q.5 In the following question, select the related letters from the given alternatives.
YZNO : WWJJ :: UGFL : ?
Ans X 1.S0ZG
< 2.RQXP
X 3.TIUX
«" 4. SDBG
Question ID : 630680440774
Option 11D : 6306801720755
Option 2 ID : 6306801720754
Option 3 ID : 6306801720757
Option 4 ID : 6306801720756
Status : Answered
Chosen Option : 4
Q.6 By Interchanging the given two numbers which of the following e quation will be
correct?
3and 2
Ans  #1.7+2x1-6+3=7
X 23-4+2+1=5
X 3.3+2x5-1=10
K 43+2x4-1=15
Question ID : 630680440786
Option 11D : 6306801720804
Option 2 ID : 6306801720803
Option 3 ID : 6306801720805
Option 4 ID : 6306801720802
Status : Answered
Chosen Option : 1
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Q.7 Five plays T1,T2,T3,T4 and T5 are to be staged from Monday to Friday of aweek. On
each day, only one play will be staged. T4 and T5 should not be the first or last to be
staged. T5 should be staged immediately before T3. T2 should be staged immediately
after T4. One play is staged between T1 and T2. How many plays are staged after T4?

Ans 1.3
X 2.0
X 3.2
p

Question ID : 630680440766
Option 11D : 6306801720724
Option 2 ID : 6306801720722
Option 31D : 6306801720723
Option 41D : 6306801720725

Status : Answered
Chosen Option : 1

Q.8 Eightwomen A, B, C,D,E, F, G and H are sitting around a circular table facing towards
the centre (not necessarily in the same order). G is third to the right of B. C is second
to the right of G. B is second to the left of E. D is to the immediate left of B. F is the
immediate neighbour of B and E. H is second to the left of A. Which of the following
statement(s) is/are correct?

I. His to the immediate left of C.
Il. G is fourth to the right of D.

Ans X 1.0nlyl
X 2.0nlyll
25 3. Neither I nor Il
" 4.Both land |l

Question ID : 630680440764
Option 11D : 6306801720714
Option 21D : 6306801720715
Option 31D : 6306801720717
Option 41D : 6306801720716

Status : Answered
Chosen Option : 4
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Q.9 If amirror is placed on the line AB, then out of the option figures which figure will be the right image of the question
figure?
A

Ans

X
¢ /¢
I

/e
¢ O

/

:

]I

Question ID : 630680440781
Option 11D : 6306801720782
Option 21D : 6306801720783
Option 31D : 6306801720784
Option 4 ID : 6306801720785

Status : Answered
Chosen Option : 2
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Ans

alternatives.

&)1

Q| &

X

X1,

X

%) &

X

Q.10 In the following question, select the figure which can be placed at the sign of question mark (?) from the given

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440779
6306801720776
6306801720777
6306801720775
6306801720774
Answered

4

Ans

X 1. VKYL
X 2. PESF
X 3.FUlV
o 4. TIYL

Q.11 In the following question, select the odd letter/letters from the given alternatives.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440777
6306801720768
6306801720767
6306801720769
6306801720766
Answered

4
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Q.12 In acertain code language, ‘VIRAL' is written as ‘124’, ‘VIDEO’ is written as ‘110’. What
is the code for ‘CLAIM’ in that code language?

Ans X 1.72
X 2.78
X 3.74
o 4.76
Question ID : 630680440769
Option 11D : 6306801720736
Option 21D : 6306801720735
Option 31D : 6306801720737
Option 41D : 6306801720734
Status : Answered
Chosen Option : 4
Q.13 Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure/figure pair
on the right side of (::) from the given alternatives based on the same logic/rule/relation.
Aol o [ <[5 ] 2
Ans
x N
xe M
w 4. g
Question ID : 630680440784
Option 11D : 6306801720795
Option 21D : 6306801720796
Option 31D : 6306801720794
Option 41D : 6306801720797
Status : Answered
Chosen Option : 4
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Chosen Option :

Q.14 y «
What is the approximate value of ( 16.0{]9)2 % (3.80)+2204.7 — 297
Ans X 1.2960
& 2.3100
«” 3.3200
X 4.3505
Question ID : 630680440789
Option 11D : 6306801720815
Option 21D : 6306801720814
Option 31D : 6306801720816
Option 41D : 6306801720817
Status : Answered
Chosen Option: 3
Q.15 Eight persons A1, A2, A3, A4, A5, A6, A7 and A8 live in an eight storied building, one
on each floor but not necessarily in the same order. The lowermost floor is
numbered 1, and the floor above itis numbered 2 and so on. Only two persons live
below the floor on which A7 lives. Only one person lives between A7 and A1. A8 lives
on an odd numbered floor but not on floor number 7. Only two persons live between
A8 and A2. A2 does notlive on the topmost floor. A1 does notlive on the lowermost
floor. A4 lives immediately below A3. Neither A4 nor A5 lives on floor numbered 6.
Who lives immediately below A6?
Ans X 1.A5
X 2.4
o 3. A1
X 4.A7
Question ID : 630680440765
Option 11D : 6306801720718
Option 2 ID : 6306801720719
Option 31D : 6306801720720
Option 41D : 6306801720721
Status : Not Attempted and

Marked For Review

Ans

Q.16 In acertain code language, ‘DIGEST' is written as ‘IBLXXM'. What is the code for
‘HELIUM' in that code language?

< 1.MYQBZF
X 2. MXQAZF
X 3.MXQBZD
& 4. MXQBZF

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680440768
6306801720732
6306801720733
6306801720730
6306801720731
Answered

4
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Q.17 In the following question, select the missing number from the given series.
691, 670, 648, 625, 601, ?

Ans  # 1.576
/< 2.580
&< 3.577
X 4.574

Question ID : 630680440791
Option 11D : 6306801720823
Option 2 ID : 6306801720824
Option 31D : 6306801720825
Option 41D : 6306801720822

Status : Answered
Chosen Option : 1

Q.18 1y the following question, select the odd figure from the given alternatives.

Ans

X1,

Sl [l

Question ID : 630680440782
Option 11D : 6306801720789
Option 21D : 6306801720788
Option 31D : 6306801720786
Option 41D : 6306801720787

Status : Answered
Chosen Option : 4
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Q.19 In the following question, select the missing number from the given series.
3,9, 54, 486, 5832, ?

Ans  # 1.87480
/< 2.8100
/< 3.8320
/< 4.85000

Question ID : 630680440792
Option 11D : 6306801720826
Option 2 ID : 6306801720828
Option 31D : 6306801720829
Option 41D : 6306801720827

Status : Answered
Chosen Option : 1

Q.20 Two figures given on the left side of (::) are related with some logic/rule/relation. Select the missing figure/figure pair
on the right side of (::) from the given alternatives based on the same logic/rule/relation.

o— —e|..[«—] .
_e [-X-1 _> -] ?
o— o— R
Ans
—_—
o 1.
E—_
——
X 2.
H—
—>
X 3.
—>
—H—
X 4.
*

Question ID : 630680440785
Option 11D : 6306801720798
Option 21D : 6306801720801
Option 31D : 6306801720799
Option 4 ID : 6306801720800

Status : Answered
Chosen Option : 1



https://applink.adda247.com/d/XhqWf9lSap

Adda E"I 7 GET IT ON

Google Play

Q.21 In acertain code language, ‘MAKERS’ is written as ‘KAMSRE'. What is the code for
‘HEADER’ in that code language?

Ans X 1.AEHDER
/< 2. AEHERD
#< 3. AHERER
«" 4. AEHRED

Question ID : 630680440767
Option 11D : 6306801720727
Option 21D : 6306801720728
Option 31D : 6306801720729
Option 41D : 6306801720726

Status : Answered
Chosen Option : 4

Q.22 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even
if they seem to be at variance from commonly known facts. Read all the conclusions
and then decide which of the given conclusion logically follows the given statements.
Statements:

I. Some tuition are battery.
I1. All tuition are teacher.
Conclusion:

I. All teacher are tuition.
1. All battery are tuition.
I1l. All battery are teacher.

Ans " 1. Neither conclusion follows
25 2. All conclusion follows
X 3.Both conclusions Il and lll follows

25 4.Both conclusions | and lll follows

Question ID : 630680440770
Option 11D : 6306801720739
Option 21D : 6306801720738
Option 31D : 6306801720741
Option 41D : 6306801720740

Status : Answered
Chosen Option : 1

Q.23 In the following question, select the related letters from the given alternatives.
LRS :HZD :: UZO : ?

Ans X 1.BQC
X 2.0NN
& 3.8PP
" 4.QHZ

Question ID : 630680440775
Option 11D : 6306801720761
Option 2 ID : 6306801720759
Option 31D : 6306801720760
Option 4 ID : 6306801720758

Status : Answered
Chosen Option : 4
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Q24 yWhich figure is similar to the given figures?

%]

Ans

x 2.

x 4

Jo0). |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680440783
6306801720790
6306801720792
6306801720791
6306801720793
Answered

1
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Q.25 Inthe following question, select the figure which can be placed at the sign of question mark (?) from the given

alternatives.
? 0-6-'3 ?

Ans

x 1.

2.

]

Question ID : 630680440778
Option 11D : 6306801720772
Option 2 ID : 6306801720770
Option 31D : 6306801720773
Option 41D : 6306801720771

Status : Answered
Chosen Option : 2

Q.26 Pointing towards a woman in a photograph, a man said, “Her brother’s sister is the
sister of the sister of my son”. How is that woman related to that man's wife?

Ans X 1.Sister
X 2. Sister-in-law
& 3. Daughter
X 4. Daughter-inHaw

Question ID : 630680440772
Option 11D : 6306801720747
Option 21D : 6306801720746
Option 31D : 6306801720749
Option 41D : 6306801720748

Status : Answered
Chosen Option : 3



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Q.27 In the following question below are given some statements followed by some

conclusions based on those statements. Taking the given statements to be true even
if they seem to be at variance from commonly known facts. Read all the conclusions
and then decide which of the given conclusion logically follows the given statements.

Statements:

I. Some A are B.

Il. NoBis C.

I11. No C is D.
Conclusion:

I. Some A are D.

Il. Some A are notC.
Ill. No B is D.

Ans  # 1.0nly conclusion Il follows
2 2. 0nly conclusion Il follows
X 3. 0nly conclusion | follows
X 4. Neither conclusion follows
Question ID : 630680440771
Option 11D : 6306801720743
Option 21D : 6306801720744
Option 31D : 6306801720742
Option 41D : 6306801720745
Status : Answered
Chosen Option : 4
Q.28 What is the approximate value 0f3184.97 + 4.95 + 3.2 x8.1?
Ans X 1.582
« 2.660
X 3.731
X 4.603
Question ID : 630680440790
Option 11D : 6306801720819
Option 21D : 6306801720820
Option 31D : 6306801720818
Option 4 ID : 6306801720821
Status : Answered
Chosen Option : 2
Q.29 In the following question, select the missing number from the given series.
30, 30, 33, 41,56, ?
Ans X 1.78
o 2.80
K 3.64
X 4.84
Question ID : 630680440793
Option 11D : 6306801720833
Option 21D : 6306801720830
Option 31D : 6306801720831
Option 41D : 6306801720832
Status : Answered
Chosen Option : 2
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Q.30 ‘A + B’ means ‘A is the daughter of B’, ‘A x B’ means ‘A is the husband of B’, ‘A + B’
means ‘A is the father of B’ and ‘A — B’ means ‘A is the wife of B. If K-S+ JxB+C -
Q, then How is J related to B?

Ans X 1.Son
" 2. Husband
X 3.Daughter
X 4. wife

Question ID : 630680440773
Option 11D : 6306801720752
Option 21D : 6306801720750
Option 31D : 6306801720753
Option 41D : 6306801720751

Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 foreht axq o forg afy g Iusitem &Y i 3t faer F afe et @, o fyarm & susii=nr Hr
g, Aag______&l

Ans X 1. ffkaasg
X 2. aw g
X 3. e agg
o 4. I

Question ID : 630680440811
Option 11D : 6306801720905
Option 2 ID : 6306801720902
Option 31D : 6306801720904
Option 41D : 6306801720903

Status : Not Answered
Chosen Option : --

Q.2 Inorder to avail the benefits of Pradhan Mantri Shram Yogi Maandhan Yojana, Monthly
Income should be up to Rs

Ans X 1.10000
7 2.25000

o 3.15000
X 4.20000

Question ID : 630680440798
Option 11D : 6306801720850
Option 21D : 6306801720853
Option 31D : 6306801720851
Option 41D : 6306801720852

Status : Not Answered
Chosen Option : --
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Q.3 2011 & STHIET & ATAR FA=fafRa & @ o= a1/ wu= g 8/8?
1. 2001-2011 & g2k & WIRA Y FTAEEAT i av 13.3 ufaara i
1. fra enfifes wEra f s wRd fY et STEET o1 1.7 ufasrd o6

Chosen Option :

Ans o7 1. Gadll
X2 agtiagi
X 3. &gl
X 4. 1FurliEs
Question ID : 630680440816
Option 11D : 6306801720923
Option 21D : 6306801720925
Option 31D : 6306801720922
Option 41D : 6306801720924
Status : Not Answered
Chosen Option : --
Q.4 #AforgR d ‘sl &g vorrel iyt ______ gl 1T 8|
Ans 1.0
X 2.
X 3. e
X 4. @gal
Question ID : 630680440817
Option 11D : 6306801720929
Option 21D : 6306801720928
Option 31D : 6306801720927
Option 4 ID : 6306801720926
Status : Not Answered
Chosen Option : --
Q.5 Annual turnover should be below ______ ,in order to avail the benefits of the National
Pension Scheme for Traders and Self-Employed Persons (NPS-Traders) 2019.
Ans X 1.Rs.2.5crore
& 2.Rs. 50 lakh
25 3.Rs. 1 crore
o 4.Rs. 1.5 crore
Question ID : 630680440799
Option 11D : 6306801720857
Option 21D : 6306801720854
Option 31D : 6306801720855
Option 41D : 6306801720856
Status : Not Answered
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Q.6 e Iy 31quTd (CRR) &Y ______ aft gt SATaT 81
I. I HIY ITUTd
Il. &9 srguTd
Ans X 1.Faadll
X2 agtiagi
X 3. &gl
o 4.13a1 1l S
Question ID : 630680440810
Option 1 ID : 6306801720899
Option 2 ID : 6306801720901
Option 3 ID : 6306801720898
Option 4 ID : 6306801720900
Status : Answered
Chosen Option : 3
Q.7 As per Economic Survey 2020-21, what was the per capitaincome of Bihar for 2018-
19?
Ans " 1.Rs. 40,982 per annum
X 2.Rs. 80,982 per annum
5 3.Rs. 1,80,982 per annum
X 4.Rs. 1,40,982 per annum
Question ID : 630680440806
Option 11D : 6306801720882
Option 2 ID : 6306801720883
Option 31D : 6306801720885
Option 41D : 6306801720884
Status : Not Answered
Chosen Option : --
Q.8 =iisl @9 & day | fA=fafad # @ o= 91/@ &ya 98t /82
|. I8 Qeh H ATHS AT St i1 3R A2 gfATT & HS W U= IS Heat ATl
Il. SHh! g 1404 A g5
Ans X 1.Fadll
o 2. 5T |
X 3.agtiagi
X A laurligEr
Question ID : 630680440803
Option 11D : 6306801720871
Option 2 ID : 6306801720870
Option 31D : 6306801720873
Option 41D : 6306801720872
Status : Answered
Chosen Option : 4
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Q.9 sma e farew ______ d gemam
Ans X 1.1915
X 2.1901
o 3.1905
X 4.1911
Question ID : 630680440800
Option 11D : 6306801720861
Option 2 ID : 6306801720858
Option 31D : 6306801720859
Option 4 ID : 6306801720860
Status : Answered
Chosen Option: 3
Q.10 rze # 19 2rared} & wrAIfSI e srigieril & Hesf § 'GUR H1s - HRATISR' S
f=fafaa d @ wa o/@ g ad giafea 8/8?
I. geasnteres 9uTs - $yReg faeranR
Il. TnfdmTT srigte= — &t At Aarger
Ans X 1.Fad|
o 2. 5Tdll
X 3. 1quriigEt
Xoaagiag
Question ID : 630680440801
Option 11D : 6306801720862
Option 2 ID : 6306801720863
Option 31D : 6306801720864
Option 41D : 6306801720865
Status : Not Answered
Chosen Option : --
Q.11 fma@r_______ & fiaday =t g2ufdi @1
Ans & 1. SNTR HIHd AT Teh HH & 110 TR
X 2. 3fgd o 3R Uah B & fHTd TR
X 3. ey e IUT Teh B o fiid TR
X 4. IR AEa gt sy ge
Question ID : 630680440809
Option 11D : 6306801720895
Option 21D : 6306801720894
Option 31D : 6306801720896
Option 41D : 6306801720897
Status : Answered
Chosen Option : 2
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Q.12
Ans

«" 1. Kali Puja

X 2. Ganesh Puja
< 3. Laxmi Puja
X 4.Durga Puja

is observed aday before Deepawali in the month of Kartika

Chosen Option :

Question ID : 630680440822
Option 11D : 6306801720947
Option 21D : 6306801720949
Option 31D : 6306801720946
Option 4 ID : 6306801720948
Status : Answered
Chosen Option: 3
Q.13 fa=faf@a d @ wta ar gifgew Hfifa susor wifka siaa wfa g+t g2 9 s Jue= & fog
hifRs? fruffea swear &2
I. 3 R
1. et 3ot &=
1. Swia =t gfawr =
Ans X 1.0, It
o 2. Il TAT Il
X3 laurll
X 4. Faal
Question ID : 630680440812
Option 1 ID : 6306801720908
Option 21D : 6306801720907
Option 31D : 6306801720906
Option 4 ID : 6306801720909
Status : Answered
Chosen Option : 3
Q.14 &y g & e A fam=faf@a & @ wta a1/a wu= ad 8/8?
I. a8 WIRd & &g i 7 | g g1
1. ag Fet i arRaf¥er Fea dferal § @ g g1
Ans X 1.&adll
X2 agtiag
o 3. had|
X 4. 1gurllEe
Question ID : 630680440821
Option 11D : 6306801720943
Option 2 1D : 6306801720945
Option 31D : 6306801720942
Option 41D : 6306801720944
Status : Not Answered



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Ans

Q.15 The largest inhabited riverine island in the world is located in the

& 1.Ganga
X 2.Narmada

" 3. Brahmaputra

river.

Chosen Option :

X 4.Indus
Question ID : 630680440814
Option 11D : 6306801720915
Option 21D : 6306801720916
Option 31D : 6306801720917
Option 41D : 6306801720914
Status : Answered
Chosen Option: 3
Q.16 Which Indian state launched the Amrit Brikshya Andolan initiative in September 2023?
Ans X 1.0disha
X 2.Kerala
o 3. Assam
X 4. Gujarat
Question ID : 630680440794
Option 11D : 6306801720836
Option 21D : 6306801720835
Option 31D : 6306801720834
Option 41D : 6306801720837
Status : Answered
Chosen Option : 2
Q.17 2015 & |t TY+h AE T A2AT ZIRT STYATE 71¢ Had fAehrd & forg usisr 2030 & d@gd &
fa=fafeEa § @ o a1/8 wu= a8t 8/8?
I. 399 17 gad faea dga (gadish) g
1. 399 169 erife §1
Ans X 1.%aa|
X 2. &gl
& 3. 13Tl gHr
X4 agtiag
Question ID : 630680440795
Option 11D : 6306801720838
Option 21D : 6306801720839
Option 31D : 6306801720840
Option 41D : 6306801720841
Status : Not Answered
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Chosen Option :

Q.18 ‘F¢a it nfgemail fir ok I e fAefaar Frares argeiRs srdma g o ______ uid #
IATAT ST 3T 2l
Ans X 1.gRamm
o 2.5
& 3. TR
X 4. sifam
Question ID : 630680440808
Option 11D : 6306801720891
Option 21D : 6306801720892
Option 3 ID : 6306801720890
Option 4 ID : 6306801720893
Status : Answered
Chosen Option : 2
Q.19 uwra & fF=faf@a 7 @ fora s=enfa g Mfaa e g=rar sirdar 82
Ans X 1.t
X 2. @
X 3. gt
o 4.7
Question ID : 630680440823
Option 1 ID : 6306801720950
Option 21D : 6306801720952
Option 3 ID : 6306801720953
Option 4 ID : 6306801720951
Status : Not Answered
Chosen Option : --
Q.20 af 20108 ______ T &l 'gATR eRIgY i 7 rrfae forar
Ans X 1.%e&7
o 2.1
X 3. ger
X 4. i
Question ID : 630680440820
Option 1 ID : 6306801720938
Option 21D : 6306801720939
Option 3 ID : 6306801720940
Option 4 ID : 6306801720941
Status : Not Answered



https://applink.adda247.com/d/XhqWf9lSap

Adda

247

GET IT ON

Google Play

Q.21

Ans

wId Y Sterang & ded | fFmfafia 7 @ o= @/@ sy ad 8787
. 1Re it STeTary ol ATAYHY STerary gt ST gl

I1. 91’ Y STerary # I wfes g srerary ud Sutwr wfes fa srearg g1 f fatward

IufAT gl

X 1.&aall
X2 agtiagi
o 3.1 TAT Il a
X 4. Faal

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440815
6306801720919
6306801720921
6306801720920
6306801720918
Not Answered

Q.22
Ans

Kalinga is the ancient name of ______.
4 1. coastal Orissa

X 2.Bengal
X 3.Bihar

& 4. coastal Kerala

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440804
6306801720877
6306801720875
6306801720874
6306801720876
Answered

2

Ans

Q.23 fa=fafEa 9 @ frd amr=aa: sruwl wifge A o uget faf@a e ar=r smar 82

X 1. garif

X 2. gmedt aRa
X 3.gIgrRIT
o 4. ugreaRa

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440819
6306801720935
6306801720934
6306801720936
6306801720937
Not Answered
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Q.24 Which of the following statements is/are correctin the context of the Lunar Polar
Exploration Mission (LUPEX)?
I. Itis acollaborative venture between NASA and ISRO.
Il. The mission, among others, is aimed at exploring lunar polar region suitability for
establishing a base on the Moon for sustainable activities.

Ans 4 1.0nlyll
& 2.Bothland
25 3. Neither I nor Il

X 4.0nlyl

Question ID : 630680440797
Option 11D : 6306801720847
Option 21D : 6306801720848
Option 31D : 6306801720849
Option 4 ID : 6306801720846

Status : Answered
Chosen Option : 4

Q.25 The National Bank for Agriculture and Rural Development (NABARD) was set up in

Ans X 1.1972

X 2.1976

o 3.1982

X 4.1986
Question ID : 630680440807
Option 11D : 6306801720886
Option 21D : 6306801720887
Option 31D : 6306801720888
Option 4 ID : 6306801720889

Status : Not Answered
Chosen Option : --
Q.26 The launch of Aditya-L1 was accomplished successfullyon ______, 2023.

Ans X 1.August2
+«" 2. September 2
& 3. August 23
5 4. September 23

Question ID : 630680440796
Option 11D : 6306801720842
Option 21D : 6306801720844
Option 31D : 6306801720843
Option 4 ID : 6306801720845

Status : Answered
Chosen Option: 3
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Q.27

Which of the following statements is/are correct about emperor Ashoka?
I. He was aruler belonging to the Gupta dynasty.
Il. He was the son of Bindusara.

Chosen Option

Ans 4 1.0nlyll
X 2. Neither I nor Il
X 3.0nlyl
X 4.Bothlandll
Question ID : 630680440805
Option 11D : 6306801720879
Option 2 1D : 6306801720881
Option 31D : 6306801720878
Option 41D : 6306801720880
Status : Not Answered
Chosen Option : --
Q.28 The dry deciduous forests are found in areas having rainfall between ______.
Ans X 1.100 cm to 200 cm
< 2.200 cm to 300 cm
" 3.70cm to 100 cm
X 4.20cmto 70 cm
Question ID : 630680440813
Option 11D : 6306801720910
Option 21D : 6306801720912
Option 31D : 6306801720911
Option 41D : 6306801720913
Status : Not Answered
Chosen Option : --
Q.29 7 asrdsrt & e afeat aa wetst & FuR AT Ft daR onuy | agd @I fAmfafaa |
@ i 1 921 39 'Puefitg dud' d errfae agf ar?
Ans X 1.0
X 2.3gge
o 3.9
X 4 eRufagr
Question ID : 630680440802
Option 11D : 6306801720868
Option 21D : 6306801720867
Option 31D : 6306801720869
Option 41D : 6306801720866
Status : Answered

01
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Ans

Q.30 Which of the following statements is/are correct regarding Sardar Sarovar Dam?

I. This Dam has been built over the Narmada River.
Il. This project covers four states — Maharashtra, Madhya Prade sh, Gujarat and

Rajasthan.

" 1.Bothlandl
X 2.0nlyl

25 3. Neither I nor I
X 4.0nlyll

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440818
6306801720932
6306801720930
6306801720933
6306801720931
Not Answered

Sectio

n : Quantitative Aptitude

Q.1 A sphere is melted to form acylinder. If the height of the cylinder is 256/81 times of

its own radius, then what is the ratio of the radius of sphere to the radius of cylinder?

Ans X 1.3:4
X 2.2:1
XK 3.1:1
o 4.4:3
Question ID : 630680440849
Option 11D : 6306801721054
Option 21D : 6306801721057
Option 31D : 6306801721056
Option 41D : 6306801721055
Status : Answered
Chosen Option : 4
Q.2 The compound interest (compounding half yearly) received on Rs. 6000 for 1.5 years
is Rs. 1986 What is the rate of interest per annum?
Ans  # 1.20 percent
X 2.25 percent
25 3. 40 percent
25 4.30 percent
Question ID : 630680440841
Option 11D : 6306801721022
Option 2 ID : 6306801721023
Option 31D : 6306801721025
Option 41D : 6306801721024
Status : Answered

Chosen Option : 4
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sides in the polygon?

Q.3 If the Sum of all the interior angles of a polygon is 1080, then what is the number of

Ans 1.8
X 29
X 3.6
X 4.5
Question ID : 630680440852
Option 11D : 6306801721068
Option 21D : 6306801721069
Option 31D : 6306801721067
Option 41D : 6306801721066
Status : Answered
Chosen Option: 3
Q.4 Ifthe side of asquare increases by c percent, then area of the square increases by 69
percent. What is the value of c?
Ans X 1.25 percent
25 2.50 percent
25 3.35 percent
o 4. 30 percent
Question ID : 630680440831
Option 11D : 6306801720982
Option 21D : 6306801720983
Option 31D : 6306801720985
Option 41D : 6306801720984
Status : Not Answered
Chosen Option : --
Q.5 ; 11 1 L i
What is the value of + + Foen b ———
Ix5 5x7 T=x9 37x39
Ans 6
W I
39
12
X2
39
38
X3 —
39
1
X4
39

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

12

Chosen Option

630680440825
6306801720959
6306801720960
6306801720961
6306801720958
Answered



https://applink.adda247.com/d/XhqWf9lSap

Adda E"I 7 GET IT ON

Google Play

Q.6 Radius of acircle is 20 cm. What will be the angle made by achord of length 40 cm on
the circumference of this circle?

Ans X 1.140 degrees
25 2.120 degrees
+" 3.90 degrees
25 4.135 degrees

Question ID : 630680440850
Option 11D : 6306801721059
Option 2 ID : 6306801721061
Option 31D : 6306801721058
Option 41D : 6306801721060

Status : Answered
Chosen Option: 3

Q.7 Selling price of an article is Rs. 6650 and discount of 30 percent is offered. What is the
marked price of the article?

Ans X 1.Rs.8500
& 2.Rs. 9500
 3.Rs. 9800
X 4.Rs. 9600

Question ID : 630680440834
Option 11D : 6306801720995
Option 21D : 6306801720997
Option 31D : 6306801720994
Option 41D : 6306801720996

Status : Answered
Chosen Option : 2

Q.8 70 percentof 10 percent of anumber is equal to 343. What is the 27 percent of that
number?

Ans X 1.1333
o 2.1323
< 3.1023
X 4.1233

Question ID : 630680440830
Option 11D : 6306801720979
Option 21D : 6306801720978
Option 31D : 6306801720981
Option 41D : 6306801720980

Status : Answered
Chosen Option : 2
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many years it will becomes five times of itself?

Q.9 A certain sum of money becomes triple of itself in 6 years at simple interest. In how

Chosen Option

Ans X 1.7 years
o 2. 12 years
X 3.16 years
X 4.10years
Question ID : 630680440838
Option 11D : 6306801721010
Option 21D : 6306801721012
Option 31D : 6306801721013
Option 41D : 6306801721011
Status : Answered
Chosen Option : 4
Q.10 Mixture of milk and water in three bottles of e qual capacity is in the ratio 4:5, 3 :1 and
2:1respectively. These three bottles are emptied into alarge bottle. What will be the
ratio of milk and water respectively in the large bottle?
Ans o 1.67 147
X 2.67:39
X 3.67:42
X 4.67:40
Question ID : 630680440837
Option 11D : 6306801721008
Option 21D : 6306801721007
Option 31D : 6306801721009
Option 4 ID : 6306801721006
Status : Answered
Chosen Option : 1
Q.11 A 4digit number which when divide by 12, 16 and 18 leaves 7 as remainder in each
case. Find the smallest such number.
Ans  # 1.1015
X 2.1024
X 3.1440
X 4.3628
Question ID : 630680440826
Option 11D : 6306801720965
Option 21D : 6306801720962
Option 31D : 6306801720963
Option 41D : 6306801720964
Status : Answered

|
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per annum at simple interest?

Q.12 In how much time will asum of Rs. 3200 amounts to Rs. 7040 at the rate of 6 percent

Ans X 1.27 years
X 2.32years
" 3.20 years
X 4.25years
Question ID : 630680440839
Option 11D : 6306801721016
Option 21D : 6306801721017
Option 31D : 6306801721014
Option 41D : 6306801721015
Status : Answered
Chosen Option: 3
Q.13 A work can be completed by 15 boys in 48 days. If 9 boys leave after working for 24
days, then how many days will be needed to complete the remaining work?
Ans  # 1.60days
X 2.94 days
X 3.87 days
X 4.90days
Question ID : 630680440844
Option 11D : 6306801721034
Option 21D : 6306801721036
Option 31D : 6306801721037
Option 41D : 6306801721035
Status : Not Answered
Chosen Option : --
Q.14 A person earns a profit of 30 percent by selling a chair for Rs. 208. How much percent
should he increase his selling price to earn a profit of 50 percent?
Ans X 1.14.28 percent
& 2.16.66 percent
5 3.20 percent
" 4.15.38 percent
Question ID : 630680440833
Option 11D : 6306801720991
Option 21D : 6306801720990
Option 31D : 6306801720993
Option 4 ID : 6306801720992
Status : Answered
Chosen Option : 4
Q.15 Median of the numbers 2,7,5,12,12 and P is 8.5. What is the value of P?
Ans X 1.10.5
K211
X 3.95
o 4.10
Question ID : 630680440845
Option 11D : 6306801721041
Option 21D : 6306801721039
Option 31D : 6306801721038
Option 41D : 6306801721040
Status : Answered
Chosen Option : 4
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Q.16 Average age of 13 students of aschool is 24 years. The average age of these
students and their mathematics and science teachers is 36 years. If the age of
science teacher is 16 years more than the age of mathematics teacher, then what is
the age of mathematics teacher?

Ans X 1.108 years
X 2.107 years
X 3.105.5 years
" 4.106 years

Question ID : 630680440829
Option 11D : 6306801720977
Option 21D : 6306801720976
Option 31D : 6306801720974
Option 41D : 6306801720975

Status : Not Answered
Chosen Option : --

Q.17 What s the total surface area of acone whose radius is 12 cm and heightis 16 cm?

AnS X 1. 1429.72 om?
X2 1678.65 cm?
X3 1028.54 cm?

¥4 1206.86 cm?>

Question ID : 630680440848
Option 11D : 6306801721051
Option 21D : 6306801721053
Option 31D : 6306801721052
Option 41D : 6306801721050

Status : Answered
Chosen Option : 4

Q.18 The average age of 8 members of a family is 34 years. If the youngest member is 7
years old, then what was the average age of the family just before the birth of the
youngest member?

Ans X 1.30.28 years
5 2.31.29 years
X 3.32years
" 4.30.86 years

Question ID : 630680440828
Option 11D : 6306801720972
Option 21D : 6306801720973
Option 31D : 6306801720970
Option 4 ID : 6306801720971
Status : Not Answered
Chosen Option : --
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Q.19 Average of 13 numbers is 20. If anumber is removed, then the average becomes 17.
Which number was removed?

Ans X 1.60
X 2.36
o 3.56
X 4.38

Question ID : 630680440827
Option 11D : 6306801720969
Option 2 ID : 6306801720966
Option 31D : 6306801720968
Option 41D : 6306801720967

Status : Answered
Chosen Option: 3

Q.20 The ratio of salaryof A,Band C is 9:7 :17. If C gets Rs. 4000 more than B, then what
is the salary of A?

Ans o 1.Rs. 3600
< 2.Rs. 4000
X 3.Rs. 6300
X 4.Rs.2800

Question ID : 630680440835
Option 11D : 6306801721000
Option 21D : 6306801721001
Option 31D : 6306801720998
Option 41D : 6306801720999

Status : Answered
Chosen Option : 1

Q.21 How many diagonals are there in aregular hexagon?
Ans X 1.10

o 2.9
X 3.12
X 4.15

Question ID : 630680440851
Option 11D : 6306801721063
Option 21D : 6306801721062
Option 31D : 6306801721064
Option 41D : 6306801721065

Status : Answered
Chosen Option : 2

Q.22 The speed of abus is 126 km/hr. What will be the distance covered by the bus in 20
seconds?

Ans  # 1.700 metres
5 2.900 metres
25 3.600 metres
25 4.800 metres

Question ID : 630680440842
Option 11D : 6306801721027
Option 21D : 6306801721029
Option 31D : 6306801721026
Option 41D : 6306801721028

Status : Answered
Chosen Option : 1
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Q.23 How much amount will be received on a principal of Rs. 20000 at the rate of 30
percent per annum compounded annually for 2 years?

Ans X 1.Rs.32910
X 2.Rs.33700
+«" 3.Rs. 33800
X 4.Rs.35020
Question ID : 630680440840
Option 11D : 6306801721019
Option 21D : 6306801721018
Option 31D : 6306801721020
Option 41D : 6306801721021
Status : Answered
Chosen Option: 3
Q.24 The line chart given below shows the production of wheat by two companies in 6 years (B, Q. R, S, T and U).
P I Q R I S T I U
A =B
What are the ratio of production of wheat by both companies in year P to the production of wheat by both companies in
year Q7
Ans X 1.16:23
X 2.22:17
X 3.22:15
o 4.15:22
Question ID : 630680440846
Option 11D : 6306801721043
Option 21D : 6306801721045
Option 3 ID : 6306801721042
Option 41D : 6306801721044
Status : Answered
Chosen Option : 4
Q.25 Total number of aball in a bag is 40. The number of red balls are 6 more than the
number of yellow balls. What will be the number of red ball?
Ans X 1.25
52,26
X 3.27
o 4.23
Question ID : 630680440847
Option 11D : 6306801721047
Option 2 ID : 6306801721049
Option 31D : 6306801721048
Option 41D : 6306801721046
Status : Answered
Chosen Option : 4
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Q.26 A man starts running from a point at the speed of 32 km/hr at 6:00 am. Two hours later
another man starts running in the same direction from the same point at the speed of
48 km/hr. At what time will the second man be 72 km ahead of the first man?

Ans 4 1.4:30 pm

X 2.5:45pm
X 3.4:15pm
X 4.3:30 pm
Question ID : 630680440843
Option 1 ID : 6306801721030
Option 21D : 6306801721031
Option 31D : 6306801721032
Option 4 ID : 6306801721033
Status : Not Answered
Chosen Option : --
Q.27 i
. cost—sin @
If tanB = 10, then what will be the valuve of ——?
cosB+sinB
Ans g
X1 —
11
9
2 ——
11
9
K3 ——
12
11
x4 —
12
Question ID : 630680440853
Option 11D : 6306801721071
Option 21D : 6306801721072
Option 3 ID : 6306801721070
Option 41D : 6306801721073
Status : Answered
Chosen Option : 2
Q.28 Rs. 8300 is divided among A, B and C in the ratio of 18/5:9 : 4 respectively. What is the
share of C?
Ans X 1.Rs.1800
X 2.Rs. 4500
< 3.Rs. 1000
o 4.Rs. 2000
Question ID : 630680440836
Option 1 ID : 6306801721003
Option 21D : 6306801721004
Option 31D : 6306801721005
Option 41D : 6306801721002
Status : Answered
Chosen Option : 4
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Q.29 Selling price of an article is Rs. 245. If loss percentage is 30 percent, then what is the
cost price of article?
Ans X 1.Rs.300
X 2.Rs. 400
< 3.Rs. 450
«" 4.Rs. 350
Question ID : 630680440832
Option 11D : 6306801720986
Option 21D : 6306801720987
Option 31D : 6306801720988
Option 41D : 6306801720989
Status : Answered
Chosen Option : 4
Q.30 " e 75
What is the unit digit of 21377232
Ans 1.7
X 2.5
X 3.2
X4
Question ID : 630680440824
Option 11D : 6306801720956
Option 21D : 6306801720957
Option 31D : 6306801720954
Option 41D : 6306801720955
Status : Answered
Chosen Option : 1
Section : English Language
Q.1 Selectthe word from the options which is exactly opposite in meaning to the
bracketed word given in the sentence below.
Its supporters are pressurizing American companies to end their (complicity) with
Israeli apartheid.
Ans X 1.connivance
" 2. non-involvement
X 3. collusion
X 4. guiltiness
Question ID : 630680440873
Option 11D : 6306801721152
Option 2 ID : 6306801721150
Option 31D : 6306801721153
Option 41D : 6306801721151
Status : Not Answered
Chosen Option : --
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Q.2 Selectthe most appropriate meaning of the given proverb.
Good things come to those who wait.
Ans X 1.Ifthings were to happen by just wishing them, even the poorest will have everything
they want.
75 2.1f you do something dangerous or adventurous, you may get harmed.
25 3. Overconfidence can doom even the competent.
" 4. Patience is often rewarded.
Question ID : 630680440868
Option 11D : 6306801721133
Option 21D : 6306801721130
Option 31D : 6306801721132
Option 41D : 6306801721131
Status : Answered
Chosen Option : 4
Q.3 In the following passage some words have been deleted. Fill in the blanks with the
help of the alternatives given. Select the most appropriate option for each number.
| think of the children, and for that reason | would do anything in the world to (1)
—eee___them, butldont(2) ________ know how to save them. By taking them away
from their father, or by leaving them witha (3) ________ father—yes, avicious father....
Tellme, (4) _______ what...has happened, can we live together? Is that possible?
Select the most appropriate option to fill in the blank No. 3.
Ans X 1.devious
¥ 2. vicious
5 3. corrupt
X 4. devilish
Question ID : 630680440862
Option 11D : 6306801721108
Option 21D : 6306801721109
Option 31D : 6306801721106
Option 41D : 6306801721107
Status : Not Answered
Chosen Option : --
Q.4 Selectthe word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.
Winston could not (definitely remember a time) when his country had not been at war.
Ans X 1.indefinitely remember a time
/5 2. definitely remember any time
& 3.inconsiderably remember a time
+«" 4. No correction required.
Question ID : 630680440856
Option 11D : 6306801721084
Option 21D : 6306801721083
Option 31D : 6306801721082
Option 41D : 6306801721085
Status : Not Answered
Chosen Option : --
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Q.5 Four sentences are given, out of which three sentences have spelling errors.
Choose the sentence with all correct spelt words.
Ans X 1.You can conclude the presentation with a comparitive analysis of the companies’
Balance Sheets.
< 2.Butinspiration and faith-based agenda in movies does not gaurantee box office
success.
" 3. The schedule adjustment gives Maryland the chance to win three games next
week.
5 4.The previous terms hadn't included language on the formation of that commitee.
Question ID : 630680440877
Option 11D : 6306801721168
Option 21D : 6306801721167
Option 31D : 6306801721166
Option 41D : 6306801721169
Status : Answered
Chosen Option : 1
Q.6 The sentence given below is divided into multiple segments. The first and last parts
are given. The remaining parts of the sentence are listed in ajumbled order. Choose
the option that arrange s these parts in logical sequence.
| feared to go very far from the station, as we had arrived late
A. East; the most western of splendid bridges over the Danube,
B. which is here of noble width and de pth,
C. I had was that we were leaving the West and entering the
D. and would start as near the correct time as possible. The impression
took us among the traditions of Turkish rule.
Ans X 1.BDCA
X 2.CBAD
«” 3.DCAB
X 4.ACDB
Question ID : 630680440858
Option 11D : 6306801721090
Option 21D : 6306801721091
Option 31D : 6306801721093
Option 41D : 6306801721092
Status : Answered
Chosen Option : 4
Q.7 Selectthe word segment that substitutes (replaces) the bracketed word segment
correctly and completes the sentence meaningfully. Select the option 'no correction
required' if the sentence is correct as given.
| have satinvisible besides you (many and many a days).
Ans X 1.many and many of days
«" 2. many and many a day
75 3.many and most a days
5 4. No correction required.
Question ID : 630680440857
Option 11D : 6306801721088
Option 21D : 6306801721086
Option 31D : 6306801721087
Option 41D : 6306801721089
Status : Answered
Chosen Option : 1
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Q.8 Selectthe most appropriate meaning of the given idiom.
A blast from the past.

Ans " 1. Something that evokes a sense of nostalgia.
5 2.To be anxious suddenly.
75 3.To chooseto decrease involvement.

X 4.Todo or say something that causes you problem.

Question ID : 630680440867
Option 11D : 6306801721128
Option 21D : 6306801721127
Option 31D : 6306801721129
Option 41D : 6306801721126
Status : Answered
Chosen Option : 4
Q.9 Four sentences are given, out of which three sentences have spelling errors.
Choose the sentence with all correct spelt words.
Ans X 1.This cast-iron scrubber also happens to look like it could be part of a medeival suit
of armour.
+«" 2.1 watched as each reached up to the press box, memento in hand.
5 3. Theregion has only ever crossed the case rate threshhold, reports the Union-
Tribune.
25 4.The constitution allows only defence personnels, right to withold information.
Question ID : 630680440878
Option 11D : 6306801721172
Option 21D : 6306801721173
Option 31D : 6306801721170
Option 41D : 6306801721171
Status : Answered
Chosen Option : 2
Q.10 From the given option, select the correct idiom to substitute (replace) the bracketed
word segment.
Shivang is (so highly intellige nt) that he wins each chess match within 10 mins.
Ans X 1.such a dead letter
5 2.such a vim and vigor
& 3.such a devil in disguise
«” 4. such a brain box
Question ID : 630680440869
Option 11D : 6306801721136
Option 21D : 6306801721135
Option 31D : 6306801721137
Option 41D : 6306801721134
Status : Answered
Chosen Option : 4
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Q.11 The sentence given below is divided into multiple segments. The first and last parts
are given. The remaining parts of the sentence are listed in ajumbled order. Choose
the option that arrange s these parts in logical sequence.

Having had some time at my disposal when in London,

A. could hardly fail to have some importance in dealing

B. the books and maps in the library regarding Transylvania;
C. I had visited the British Museum, and made search among
D. it had struck me that some foreknowledge of the country

with anobleman of that country.
Ans X 1.BCAD

X 2.ADCB
2 3.DCBA
«" 4.CBDA

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

630680440859
6306801721097
6306801721094
6306801721095
6306801721096
Answered

4

Q.12 Select the most appropriate synonym of the given word.
Suave

Ans o 1.Urbane
X 2. Prodigal
X 3. Lament

#< 4. Nippy

Question ID : 630680440872
Option 11D : 6306801721147
Option 21D : 6306801721146
Option 31D : 6306801721149
Option 41D : 6306801721148

Status : Not Answered
Chosen Option : --

Q.13 In the following passage some words have been deleted. Fill in the blanks with the
help of the alternatives given. Select the most appropriate option for each number.
I think of the children, and for that reason | would do anything in the world to (1)
—ee__them, butl don't (2) know how to save them. By taking the m away
from their father, or by leaving them witha (3) ________ father—yes, avicious father....
Tellme, (4) _______ what...has happened, can we live together? Is that possible?
Select the most appropriate option to fill in the blank No. 1.

Ans X 1.keep

X 2.instigate

X 3.vent
o 4.save

Question ID : 630680440860
Option 11D : 6306801721100
Option 2 1D : 6306801721101
Option 31D : 6306801721098
Option 4 ID : 6306801721099

Status : Not Answered
Chosen Option : --
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Q.14 Fill in the blank with the most appropriate option.
| bought oranges ______ grapes.
Ans 4 1.and
X 2.also
5 3. but
X 4. actually
Question ID : 630680440865
Option 11D : 6306801721118
Option 21D : 6306801721119
Option 31D : 6306801721121
Option 41D : 6306801721120
Status : Answered
Chosen Option : 1
Q.15 Select the word from the options which is the same in meaning to the bracketed word
given in the sentence below.
His teeth were long and (snaggy), and discoloured by tobacco juice.
Ans X 1.cryptic
+ 2. barbed
X 3. horrid
& 4. jiggled
Question ID : 630680440874
Option 11D : 6306801721156
Option 21D : 6306801721157
Option 31D : 6306801721155
Option 41D : 6306801721154
Status : Answered
Chosen Option : 3
Q.16 In the following passage some words have been deleted. Fill in the blanks with the
help of the alternatives given. Select the most appropriate option for each number.
I think of the children, and for that reason | would do anything in the world to (1)
eeee_them, butl don't (2) ________ know how to save them. By taking them away
from their father, or by leaving them witha (3) ________ father—yes, avicious father....
Tellme, (4) ________ what...has happened, can we live together? Is that possible?
Select the most appropriate option to fill in the blank No. 4.
Ans X 1.since
X 2. beyond
75 3. apparently
o 4. after
Question ID : 630680440863
Option 11D : 6306801721110
Option 21D : 6306801721111
Option 31D : 6306801721113
Option 41D : 6306801721112
Status : Answered
Chosen Option: 3
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Q.17 Fillin the blank with the most appropriate option.
_______Vsaid the girl; ‘butyou see she don't’

Ans X 1.Alas
25 2.0uch
«" 3. Ah

2 4.00ps

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

630680440866
6306801721122
6306801721124
6306801721125
6306801721123
Answered

1

Q.18 Select the most appropriate antonym of the given word.
Jagged

X 1. Denticulate

X 2.Sharp
4 3. Continuous

Ans

X 4. Jeopardy

Question ID : 630680440871
Option 11D : 6306801721142
Option 21D : 6306801721145
Option 31D : 6306801721144
Option 41D : 6306801721143
Status : Answered
Chosen Option : 3
Q.19 Fillin the blank with the most appropriate option.
Shivang was aware of his comrades’ view of him, and ________ his liking for the life, he
felt bound to keep up that re putation.
Ans  «# 1.in addition to
X 2. despite of
X 3.in case of
X 4.in front of
Question ID : 630680440864
Option 11D : 6306801721115
Option 21D : 6306801721116
Option 31D : 6306801721114
Option 41D : 6306801721117
Status : Answered
Chosen Option : 3
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Q.20 Selectthe most appropriate word for the given group of words.
The keeping and training of birds of prey.

Ans X 1.Apiary
" 2. Falconry
5 3. Aviary
X 4.Tannery
Question ID : 630680440854
Option 11D : 6306801721076
Option 21D : 6306801721075
Option 31D : 6306801721074
Option 41D : 6306801721077
Status : Answered
Chosen Option : 1
Q.21 From the given option, select the correct proverb which matches in meaning to the
sentence given below.
I know he was all praise for your business acumen, but don’t take his words literally as
this guy needs business from us.
Ans X 1.Fools rush in where angels fear to tread.
" 2. Flattery, like perfume, should be smelled but not swallowed.
X 3. Faults are thick where love is thin.
X 4. Fine feathers make fine birds.
Question ID : 630680440870
Option 11D : 6306801721138
Option 21D : 6306801721141
Option 31D : 6306801721140
Option 41D : 6306801721139
Status : Answered
Chosen Option: 3
Q.22 Select the most appropriate word for the given group of words.
The use of aword sounding somewhat like the one intended but ludicrously wrong in
the context.
Ans X 1. Allotropism
X 2. Papism
X 3.Solipsism
" 4. Malapropism
Question ID : 630680440855
Option 11D : 6306801721081
Option 21D : 6306801721079
Option 31D : 6306801721078
Option 41D : 6306801721080
Status : Answered
Chosen Option : 3
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Q.23 In the following passage some words have been deleted. Fill in the blanks with the
help of the alternatives given. Select the most appropriate option for each number.
| think of the children, and for that reason | would do anything in the world to (1)
eeeee_them, butl don't (2) ________ know how to save them. By taking them away
from their father, or by leaving them witha (3) ________ father—yes, avicious father....
Tellme, (4) ________ what...has happened, can we live together? Is that possible?
Select the most appropriate option to fill in the blank No. 2.
Ans X 1.ownself
& 2. myself
& 3.ourselves
& 4. ourself
Question ID : 630680440861
Option 11D : 6306801721104
Option 21D : 6306801721102
Option 31D : 6306801721105
Option 41D : 6306801721103
Status : Answered
Chosen Option: 3
Q.24 Four words are given, out of which only one word is spelt correct. Choose the
correct spelt word.
Ans X 1.COMMIT TMENT
/< 2.BLATENT
< 3. CAPPACCINO
" 4. ECSTASY
Question ID : 630680440876
Option 11D : 6306801721165
Option 21D : 6306801721162
Option 31D : 6306801721164
Option 41D : 6306801721163
Status : Answered
Chosen Option : 2
Q.25 Four words are given, out of which only one word is spelt correct. Choose the
correct spelt word.
Ans X 1.EXTRAVERT
< 2. ENTHRALL
" 3. GAUGE
X 4.AGING
Question ID : 630680440875
Option 11D : 6306801721161
Option 21D : 6306801721159
Option 31D : 6306801721160
Option 41D : 6306801721158
Status : Answered
Chosen Option: 3
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Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

The landing of Vasco da Gama at Calicut in 1498 ... is generally regarded as the beginning
of a new era in world history, especially in the relationship between Asia and Europe.
Although Asia and Europe had been in commercial relations with each other since antiquity,
the opening of the direct sea-relations between the two was not only the fulfiment of an old
dream (according to the Greek historian, Herodotus, the Phoenicians had rounded Africa in
the 6th century BC) it presaged big increase of trade between the two. T his, however, was
only one of the objectives of the Portuguese. For the Portuguese, the opening of a new sea-
route to India would give a big blow to the Muslims, the Arabs and Turks, who were the
traditional enemies of Christianity, and were posing a new threat to Europe by virtue of the
growing military and naval power of the Turks. A direct sea-link with India would displace
the virtual monopoly of the Arabs and Turks over the trade in eastern goods, especially
spices.

SubQuestion No : 26
Q.26 Identify the structure of the passage.
Ans X 1.Compare and Contrast

¥ 2. Cause and Effect
#5 3. Problem and Solution

X 4. Spatial Writing

Question ID : 630680440884
Option 11D : 6306801721191
Option 21D : 6306801721190
Option 31D : 6306801721193
Option 41D : 6306801721192

Status : Answered
Chosen Option: 3

Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

Thelanding of Vasco da Gama at Calicut in 1498 ... is generally regarded as the beginning
of a new era in world history, especially in the relationship between Asia and Europe.
Although Asia and Europe had been in commercial relations with each other since antiquity,
the opening of the direct sea-relations between the two was not only the fulfilment of an old
dream (according to the Greek historian, Herodotus, the Phoenicians had rounded Africa in
the 6th century BC) it presaged big increase of trade between the two. T his, however, was
only one of the objectives of the Portuguese. For the Portuguese, the opening of a new sea-
route to India would give a big blow to the Muslims, the Arabs and Turks, who were the
traditional enemies of Christianity, and were posing a new threat to Europe by virtue of the
growing military and naval power of the Turks. A direct sea-link with India would displace
the virtual monopoly of the Arabs and Turks over the trade in eastern goods, especially
spices.

SubQuestion No : 27
Q.27 From the given options, identify the central theme of the passage.
Ans X 1.Thepassage describes the monopoly the Arabs had over the Indian spices.
" 2. The passage narrates the history of the sea route found by Vasco Da Gama to
India, & its significance.

X 3.The passage describes how the Portuguese rounded African continent in 6th
century BC.

< 4.Thepassage s centred around the western powers in the 15th century.

Question ID : 630680440881
Option 11D : 6306801721181
Option 21D : 6306801721179
Option 31D : 6306801721180
Option 41D : 6306801721178

Status : Answered
Chosen Option: 3
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Comprehension:

Read the given passage carefully and select the most appropriate answer to the questions
that follow.

The landing of Vasco da Gama at Calicut in 1498 ... is generally regarded as the beginning
of a new era in world history, especially in the relationship between Asia and Europe.
Although Asia and Europe had been in commercial relations with each other since antiquity,
the opening of the direct sea-relations between the two was not only the fulfiment of an old
dream (according to the Greek historian, Herodotus, the Phoenicians had rounded Africa in
the 6th century BC) it presaged big increase of trade between the two. T his, however, was
only one of the objectives of the Portuguese. For the Portuguese, the opening of a new sea-
route to India would give a big blow to the Muslims, the Arabs and Turks, who were the
traditional enemies of Christianity, and were posing a new threat to Europe by virtue of the
growing military and naval power of the Turks. A direct sea-link with India would displace
the virtual monopoly of the Arabs and Turks over the trade in eastern goods, especially
spices.

SubQuestion No : 28

Q.28 Selectthe options which is the most appropriate meaning of the bracketed word
given in the sentence below. '...the fulfilment of an old dream it (presaged) big
increase...

Ans X 1.so